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Paper : BEN-HC-20I6

( {r.[ENl 'lRw )

( Honours Core )

F\ll Marks : 80

?[me : 3 hours

Ihe figures in the targin indimte futl marks
for the questions

) r m{RE fi 6ftc{t nlB grff{ G-sd yle : )x)o=)o

(+) sA-{ <nqr EFrt{ wffisr fum m't rFs Erfi
rfBs {s r

({) , so fic{l-< 'r-,4r rsrfl? qa,FI{, <R?u3l

frR+nGrs'qrt6dr r

(ut) ""rflr w qfr{sr {{qFI st{fi qt r" lwB
\9q il qgEi c{c{I r

({) qgrrqr rTgE :r{gn atfts qrnq qF ls*
+6Rq r{sEuEI{nrEIe r

(s) cr{.g ufrs tcrn q* qrdr {vil sFil-q crq
ECA dQ?
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t2t
(u) qfr mrtrcqs c+E Gqr<firr* ,

(R) WrR,tlR
qf 

1.f r.fiq& + qffs ?TfiE, 6qmr r

(s) cffqc{RfuAs c&.{R{Nft r

(qt) Efu,w&
ffi 6En5fifiasgqR[q.,

(s) TrlE rFR > <t<an crnqpr cqtqr+{tflqilr r

qfruqrwssr

(b) W' qrcf 'lFfl"1s'-qd'ffuH.{ mq sg6r
efl-{fuilftqr

(r) {1lr c?rcF rflvrr{ !Fc' rrF ,4rrre, {R q{
'ql' r clr v{ "rfum ml tr<m qflrft r

(s) {Rqr EFnr .rrelams G<aqs ftorr* s{E
altcofis€ Ffl qlru

(D) frer',m mrlwqr{srvr cq-6r <rrtt{,{zftq?

("r) 6s (ersr&) * r&s ({Tqr) = cW-,r&v ff
(3rtrIil T{i ?

22Alrr?4 (Contbncd.)

(3)

r r ffiCfts cs 6$16{ +oF :n:f< Gq< ng . txc=)o

(+) <ffi t"tslst EDfts {6{r.q,{:H 1E vwrr< ffi
6trc{T I

({) 4{'l , {{--.{fr conGlsNn hftA,r

(r) qT{ftr <rianr <Fr{s IE *am+ q<r6{ir

6{C{l I

(\) sBTd.t ffis<+{ q{i 4rc fft qr ,srB
BrR<q qls r

(B) Ss-{<rrd G"iismm Gsmeq 9rcr< vc'-qt
qfrcft"K{cq rffisffiE 6{c{ r

(D) 6{FFr.Fi EGq EI;S{ vt{Grlt cerc+ s.rffi
iflfl ?flFilrr qmcq 6{sfr@ srstvtfuTlr fr
atcq qBfu rFGrE;r? dt .tq.sfuT BE
oftcs strt Ffi mr

(q) <tffiw.{tq<IEGnwqn.g r

(v) ffiRv lqfr bqq .g ffi cm.g :

!fl_siQ; ctHRr

*e t ffi{Rs 6s @16{ EfdS ercf{ T,,zqm G-sq n\e : cx8=to

(+) rwrsm wq?Brc hffB 6{trr r

(1) qtIfiT ilFIt sFrrd swr'qq q-nr6 cvr.'r
qlca qI r[cif I
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(4)

(fl) <ttA grcRrd qftBR& vts tffi Gn<q{q
6{C{l I

(!) G,rfctrq.rtqq&rBsciurftfiqq1zll r

(s) xcsq(ftql ftr .r< rrq $fts<armfo
6flam ?

(t) qrI+ s R$ Kfr tffiqs sfuT $.rr
r{C{T r

(Q "wr*f ,rRl6c-{d qKB qqs S{rcri qfu
t\eII m r" lgctfr Tra[(, ft5l3t TriI r

(q) q{ qffi6{d mco hR-q, e qr*nftism
pftoftlt+r+ r

s r ft1ftRs c c+nmunt se5<Us<ne : !ox3=3e

(q) cffi {rqr sNrd fiffi f{ffa{sfr ErRrEI{q
sttcqlEll rrm I

({) {0 G"rsFIr tfiAsfr G"r{@ Gmrqcq Ws
{FT I

(ut) ltI e Dfiv rrmn Elstgfr-s 'ttqf+l r-"rid
IqFIAI qTcqTFT TGII I
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(s)

(r) qs,r{, {rqr smi flsrRs f{ffB€fr
Gn<.rrr<$la anrn r

(u) <lq{ffB cqr6'R TFtq ryn6{ sqlqq qfrqlFr
TGII I

(r) qfi, +tl s qsx.5s1q7qtr 'nqh tnqr.m -,e
TGII I

(q) frfr ffil66{r mr-qxrc{Rd cn-vfifiqr$ r

(e) qcf qfficffi qa +r+refr r*rc6 sr vt{
6dtc{l r

(lt) q{frw s q?hrcdrd {c{r 6rrtr[ ,nd+l qrq
ftr q-RsB Sfi{d.E-<1Rrcl mc+ r

(q) {vT rFreIsrcfd cgftqv ftsm,t ryr66 {amcr
qT(?IIFI ?FCa[ |

***
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(q) 'ttwrrd ftfu cwrs fifu <fiT<l Eq
wtFF 1t e qa'mfo, ,{+\qc.fl rcql cnc'-

ffiftB{ FrkE$ Qtnfr S{tfr frflr sR6q

ffiqs, ,{ qroRF{F{-m{rdr crrs$ r"
6rFt6m rtrrri \r{Tnrq <trarr* q{rye{ qB{c
c-tr{qrqtqrr6dt r

(q) rcrfti ,m rcrft r-?r ?Frctfi cq q&{crl
Err(Q,qit,q{E xfrs rnrit{r qFr ?trci t

(q) {tprrr ffi{-c(T&v qQ+stQfis qqm
t(rnmqc{I r

(s) {ffiT,fd q*qr ftqq rylr( ,{sE sfu<nn
$l TFGI I

(r) $rcrm ftql e q-+m {ft{-fuI ffid rs"f
ftcrsqrrfl r

(Q {KrrK crn$-rrtfu q+E lRq ne r

(c) {rtK irFrufcir-:r 'r{ fisFt wsnt ? qsuEfl<l

'iRw ne r

({) <tcqm qqrm T{,ftrsd qFffFrf.t ff ff +mzq

ryc<fiRqvrftfisqvrtt r

(o) qI(qK {l$k \e ilfu ffi{6.qr {RE <llmr
qlRv, s crTE Aqr{ ong Czhq vrs q+F

xftg qfr+llcra r

***
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BENGALI

Paper : BEN-HC-2O26

( rt$FnamfrF eft-1ts'+ffiEn I

( Honours Core )

Full Morks : 80

?[me : 3 hours

The figures in the nargin indicate full marks

for the questions

> r sfrlrft9 Us{ ne (cr mrcqt wt$) : )x)o=)o

(o) wftwzftqqcarrBr@rqB?
(1) arsqm q'rftq qffir-d rc$ cr q-{'-,sd sEK

{{OrS 6{ff, vrd ;Ilc a ?

(E) {sqRn ft{K qr< <fuqQlto qrfu{ q&
ST{{-{ Ttr gIffi A {Tqdq TriRCT{T

(s) cr{ ltqrfl ficsrrd ft q-r6d sfr{ ftrr< ffiE{
ftcqr

(s) csn confri rqmt{r qrtfts l-1li-ft{r+ foH
<r{g ?

(D) ''FI'mlsrw5afi<mr
(q) q{qRr&p{rrrm ?tgl' Trq!'ttiF-ls?
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(q) 6fl1q{"Fir-$ 6{ri {cir rgq "rqn' Tg{f{ {tvt
lwtrlRqr

(+) -f.rv, 6c;r, 'trq flqrdl <rrcrem qfi{B <qe
cqRrrcc "rRfu cNsf{cwr

(w) cw-Qx, flrmr<, sl{{I4fr--.{qgrfl Ar{d
gqlggq ?

(t) .nRh Fq-<ft {cs slsqm bqft?i ft r
(5) n<or< omurm ftft qdr ilc ft r
(v) cfu 'g +<Qzr frffir< ms qF (Ers <TsqK

xnb< c+u aqnvfffrqr
(u) cmya vruffv s qf{-srd <l*o qcs smt

{Tq{H <{ lffieqr r
(q) ws<r( Qgrzql qEIEr rrfr ,R;I6F 6{e {a.l

qsNI qI ?

r r xftg Ge-< ne (cr corm {uE) ' '\xc=!o
(+) rftq smzu< $ ,{T{ clflfid {Fr carc{I {rdl

qrft -EdAq crfii wufo cce ftts r
(l) snqrctc.t m qq-T.-T& qw trkq q mn R

g{r{w{cflfrrffir
(fl) t<fr-s \cFq-qqr ff{q cqn +rrt0r 11

qftwffi< Ils,qcr-{4r ffr
(q) ?fQ+t' cc[d rEEq cqr ffi mr "$n?

. cmeft< ,[RDT frcs fts c+tl q+'rcm B-req

a6Q6qn2
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(s) @R fE fW frfqrl< et{B<fr+ qrqcki

lcqr sDAs Qq'l

(D) {S-igclu+ "rst {\qroicl c qflEsr+ Rdr

sl3r 6{ c{I6t 1E< an ceran r

(q) cqnn qq?rcdir {cv ffi{-q\-{fur a{Fr <rq{

fiftr
(q) {{Ers cufie c{ cqn-* fi ftGa?frr {r

6{fiT I

g r 6{ 6fl-fi tRff :fcf< S'q< fle : cx8=lo

(T) q{s{rBB pR-v<um ssi$ vq ft sc{fra qr
fr+<q ns r

(q) <r".,Erd inEurc-Td Ifum ft fr, cqc{ r

(a) <trqR TtcurcTd c$risrfl?r iRrs n'e r

(s) {frR 'tRrts qs€r{K q+E fr+<q ns r

(s) Tr€K cncflft aofl c-'r6{ qt vt-caT, @ctl r

(r) eryv <tstB-< fine:tn3r.qsfr tfiw ns I

(q) <firu'R qlqEi.r ffEr6{ <{fra, 6ftr[ 1

(s) ft$r 6{c{ :

{6q-ffi1-[Nl rElvl EVO TCrflq ils8t$l

s r 6r-6FIm wrE ercs* tst ccrr{l : !ox8-8o

(T) E{. qt'@{ w w1rfir q<qrtrt fi
firfletwftc{rizmqRusne r

22Al 1176 ( Tum Over )


